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S²Ìöì“þÄ„þ !î¦þyöì†îû ‹˜Ä þ™,í„þ vþz_îûþ™e îÄî£yîû „þöìîûyV 
 

    !î¦þy† ééô „þ 
£zvþz!˜Ýþ éôé 1 

     

1Ð öëöì„þyöì̃ y ”%!Ýþþ ²ÌöìÙÀîû vþz_îû ”yç ƒ (2 × 5) 

 „þV ¢£‹y“þ „yîû’yöì„þ œ„þä ö„þy˜ä ö„þy ä̃ ë%!_«öì“þ …[þ˜ „þöìîû̃  “þy xyöìœy‰þ˜y „þöìîûyÐ 

 …V oîÄ „þyöì„þ îöìœÚ œ„þäöì„þ x %̃¢îû’ xyöìœy‰þ˜y „þöìîûyÐ 

 †V îy„Åþöìœ !„þ !î›)“Åþ „yîû’y ßþº#„þyîû „þöìîû˜Ú xyöìœy‰þ˜y „þöìîûyÐ 

 ‡V îy„Åþöìœîû ”ŸÅöì˜ {Ù»öìîûîû ¦)þ!›„þy „þ#Ú 
 

2Ð öëöì„þyöì̃ y ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒ (1 × 15) 

 „þV œöì„þîû x %̃¢îûöì’ ›%…Ä ç ö†ï’=öì’îû ›öì„Ä þ™yíÅ„þÄ „þöìîûyÐ îy„Åþöìœ ~£z !î¦þy‹öì˜îû ¢öìD !„þ ~„þ›“þ £öìî˜Ú éôôôé 

xyöìœy‰þ˜y „þöìîûyÐ (8 + 7) 

 …V òx!hßþc ²Ì“þÄÇþ !˜¦Åþîûó éôôôé îy„Åþöìœîû ~£z ›“þ îÄy…Äy „þîûÐ “%þ!› !„þ ~£z ›“þ ¢›íÅ˜ „þöìîûyÚ (10 + 5) 

 

£zvþz!˜Ýþ éôé 2 
 

3Ð öë ö„þyöì˜y ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒ (2 × 5) 

 „þV !£vþz› !„þ ö”£ öíöì„þ !¦þ§¬ ßþiyëû# xydyîû x!hßþc !îÙ»y¢ „þöìîû̃ Ú éôôôé xyöìœy‰þ˜y „þöìîûyÐ 

 …V „yîû’y¢›)öì£îû ¢Áºõþ!î¡ìëû„þ î‰þ˜ ç îyhßþîîÄyþ™yîû¢‚e«yhsþ þî‰þöì˜îû ›öì„Ä þ™yíÅ„þÄ öœöì…yÐ 

 †V „þyrÝþöì„þ x %̃¢îû’ „þöìîû !îöìÙÕ¡ì„þ ç ¢‚öìÙÕ¡ì„þ xî„yîûöì’îû ›öì„Ä þ™yíÅ„þÄ „þöìîûyÐ 

 ‡V Kþyöì˜îû îûyöì‹Ä ö„þyþ™yîûä!˜„þ#ëû !î²Õî îœöì“þ !„þ öîyGþyëû “þy xyöìœy‰þ˜y „þöìîûyÐ 
 

4Ð öë ö„þyöì˜y ~„þ!Ýþþ ²ÌöìÙÀîû vþz_îû ”yç ƒ (1 × 15) 

 „þV !£vþzöì›îû „þyëÅ„þyîû’“þ_´ xyöìœy‰þ˜y „þîûÐ “%þ!› !„þ ~£z “þ_́öì„þ ¢›íÅ̃  „þöìîûyÚ (10 + 5) 

 …V ö”Ÿ ç „þyöìœîû x!„!î”Ä„þ îÄy…Äy îœöì“þ !„þ öîyGþyëûÚ ö”…yç !„þ¦þyöìî „þyrÝþ ö”Ÿ ç „þyœöì„þ þ™)îÅ“þƒ!¢kþ îöìœ ²Ì!“þþ™§¬ 

„þöìîûöìŠé˜Ð (3 + 12) 

 

!î¦þy† ééô … 
£zvþz!˜Ýþ éôé 3 

 

5Ð öëöì„þyöì̃ y ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒ (2 × 5) 

 „þV  ¢“þÄyöìþ™Çþ öëy‹„þ ç x¢“þÄyöìþ™Çþ öëy‹öì„þîû ›öì„Ä þ™yíÅ„þÄ vþz”y£îû’¢£ îÄy…Äy „þöìîûyÐ 

 …V ~„þ!Ýþ xyþ™!“þ„þ îy„þÄy„þyîûöì„þ !˜öì¡ì„ „þîûöìœ ö„þy ä̃ îy„þÄy„þyîû þ™yçëûy ëyöìîÚ ”,ÜTyhsþ¢£ îÄy…Äy „þöìîûyÐ 

 †V œ‡%„þîûöì’îû öëöì„þyöì˜y þ™¤y‰þ!Ýþ !˜ëû› vþzöìÍÔ… „þöìîûyÐ 

 ‡V  ¢‚†!“þþ™)’Å þî‰þ˜y„þyîû îœöì“þ „þ# öîyGþyëûÚ vþz”y£îû’¢£ îÄy…Äy „þöìîûyÐ 
 

 



(2) 
 

 

6Ð öëöì„þyöì̃ y ~„þ!Ýþþ ²ÌöìÙÀîû vþz_îû ”yç ƒ (1 × 15) 

 „þV S1V ¢“þÄ¢yîû’# þ™kþ!“þîû myîûy !˜’Åëû „þöìîûy !˜Á¬!œ!…“þ î‰þ˜y„þyîû=!œ ßþº“þ­¢“þÄ‟ ßþº“þ­!›íÄy xíîy xyþ™!“þ„þ 

Söëöì„þyöì̃ y ”%!ÝþV S2×2V 

  xV p q (q p) p q p q  

  xyV p p p  

  £zV p q p q q  

  S2V ¢“þÄ¢yîû’# þ™kþ!“þîû ¢y£yöìëÄ !˜Á¬!œ!…“þ ë%!_«=!œîû ÷î„“þy !î‰þyîû „þöìîûy Söëöì„þyöì̃ y ”%!ÝþVƒ S2×3V 

   xV I J I J

I J

I J

 

   xyV A B A B

A B

A B

 

   £zV O P Q

Q O P

O P O P

 

  S3V ö„þyöì˜y x÷ìî„ ë%!_« xy„þyöìîûîû !„þ ÷î„ !˜öìîŸ˜ ”,ÜTyhsþ ¢½þîÚ ”,ÜTyhsþ¢£ îÄy…Äy „þöìîûyÐ 5 

 …V S1V œ‡%„þîû’ þ™kþ!“þîû ¢y£yöìëÄ !˜Á¬!œ!…“þ îy„þÄ=!œîû ¢“þÄ›)œÄ !˜’Åëû „þöìîûy Söëöì„þyöì̃ y ~„þ!ÝþVƒ S1×2V 

   xV  A B A B B  

   xyV P P Q Q  

  S2V œ‡%„þîû’ þ™kþ!“þîû ¢y£yöìëÄ !î‰þyîû „þöìîûy !˜Á¬!œ!…“þ î‰þ˜y„þyîû ”%!Ýþ ¢›yíÅ„þ !„þ˜y ƒ 3 

   p q r, p r q r  

  S3V œ‡%„þîû’ þ™kþ!“þîû ¢y£yöìëÄ !˜Á¬!œ!…“þ ë%!_«=!œîû ÷î„“þy !˜’Åëû „þöìîûy Söëöì„þyöì̃ y ~„þ!ÝþVƒ S1×3V 

   xV A B C D

B ~ D

A C

  

   xyV A B

B C

C A

 

  S4V þ™Çþþ™y“þ˜ Sfell swoopV þ™kþ!“þîû myîûy !˜’Åëû „þöìîûy !˜Á¬!œ!…“þ þî‰þ˜y„þyîû ”%!Ýþ ~„þ!Ýþ xþ™îû!Ýþöì„þ ²Ì!“þþ™y”˜ 

„þöìîû !„þ˜yÚ S2 + 2V 

    P Q, Q R R P  

  S5V ö„þyöì˜y ¢‚†!“þþ™)’Å îy„þÄy„þyîûöì„þ !˜öì¡ì„ „þîûöìœ „þ# îû*þ™ îy„þÄy„þyîû þ™yçëûy ëyöìîÚ ”,ÜTyhsþ¢£ îÄy…Äy „þöìîûyÐ 3 

 

 
 



(3) 
 

£zvþz!˜Ýþ éôé 4 

7Ð öëöì„þyöì̃ y ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒ S2  5V 

 „þV vþz”y£îû’¢£ ¢y!_„þ ”,ÜTyhsþ„þîû’ SEIV  !î!„!Ýþ îÄy…Äy „þöìîûyÐ 5 

 …V îy‰þ!˜„þ xöìþ™Çþöì„þîû ~„þ!Ýþ ”,ÜTyhsþ ”yçÐ îy‰þ!˜„þ xöìþ™Çþ„þ öíöì„þ „þ#¦þyöìî ”%!Ýþ !¦þ§¬ ²Ì„þyöìîûîû þî‰þ˜ þ™yçëûy ëyëûÚ 

îÄy…Äy „þöìîûyÐ S1+4V  S1 + 4V 

 †V ›y˜„þ!œ!þ™îû ²Ìöìëûy‹˜#ëû“þy „þ#Ú îÄy…Äy „þöìîûyÐ 5 

 ‡V ÷î„“þyîû xy„þyîû†“þ ²Ì›y’ îœöì“þ „þ# öîyGþyëûÚ ”,ÜTyhsþ ”yçÐ S3 + 2V 
 

8Ð öëöì„þyöì̃ y ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒ S1×15V 

 „þV S1V ›y˜„þ‟ îÄ!_«@ùÌy£„þ £z“þÄy!”îû ¢y£yöìëÄ !˜Á¬!œ!…“þ îy„þÄ=!œöì„þ ²Ì“þ#„þy!ëû“þ „þöìîûy Söëöì„þyöì̃ y ‰þyîû!ÝþV ƒ S4  1.5V 

   xV œÁºy ›y %̃öì¡ìîûy xy„þ¡ìÅ̃ #ëû £öìî ë!” “þyîûy „þyöìœy ~î‚ ¢%”ŸÅ˜ £ëûÐ 

   xyV !£vþz› £œ ”yŸÅ!˜„þ‟ !„þlsþ !“þ!˜ x„Äydîy”# ˜˜Ð 

   £zV ö„þyöì˜y ö„þyöì˜y î£z „Ïþy!hsþ„þîû ˜ëû ö„þîœ ë!” ö¢=!œ ¢%!œ!…“þ £ëûÐ 

   {V ö„þyöì˜y †yvþü#£z !˜îûyþ™” ˜ëû ë!”˜y “þyöì“þ ¦þyöìœy öîÊ„þ íyöì„þÐ 

   vþzV ¢y”y £y!“þ xyöìŠéÐ 

   |V ö„þyöì˜y „%þ!hßþ†#îû‟ öë ö‹öì“þ ë!” ~î‚ ö„þîœ ë!” ö¢ ¦þy†Äîy˜ £ëû‟ ˜ëû ”ÇþÐ 

  S2V ¢“þÄ›)œÄ xyöìîûyöìþ™îû myîûy !˜Á¬!œ!…“þ ë%!_«=!œîû x÷ìî„“þy ²Ì›y’ „þöìîûy Söëöì„þyöì̃ y !“þ˜!ÝþVƒ S3  3V 

   xV X Y Z

Y X Z

Z X Y

Y

X Z

 

   xyV x Hx Ix

x Jx Ix

x Hx Jx

 

   £zV x Mx Nx

x Mx Ox

x Ox Nx

 

   {V ö„þîœ›ye Šéyeîûy£z ¢¦þÄÐ ö„þîœ›ye ¢¦þÄîûy£z ßþºy†“þÐ ¢%“þîûy‚ ¢î Šéyeîûy£z ßþºy†“þÐ 

 …V !˜Á¬!œ!…“þ ë%!_«=!œîû xy„þyîû†“þ ÷î„“þy †àþ˜ „þöìîûy Söëöì„þyöì˜y !“þ˜!ÝþV ƒ  S3  5V 

  xV J J K

J L

L J J

 

  xyV x Ix Jx

x Ix Jx

x (Jx Ix)

 



(4) 
 

  £zV ë!” “%þ!› !Ýþvþz!œöìþ™îû ‰þyîûy œy†yç “þy£öìœ ö“þy›yîû îy†yöì˜ “þyvþüy“þy!vþü š%þœ š%þÝþöìî ~î‚ ë!” “%þ!› xÞÝþyöìîûîû ‰þyîûy 

œy†yç “þy£öìœ ö“þy›yîû îy†yöì˜ ö”!îûöì“þ š%þœ š%þÝþöìîÐ ¢%“þîûy‚‟ ë!” “%þ!› !Ýþvþz!œöìþ™îû ‰þyîûy œy†yç xíîy xÞÝþyöìîûîû ‰þyîûy 

œy†yç “þy£öìœ ö“þy›yîû îy†yöì˜ “þyvþüy“þy!vþü š%þœ š%þÝþöìî xíîy ö“þy›yîû îy†yöì˜ ö”!îûöì“þ š%þœ š%þÝþöìîÐ 

  {V ö²ÕöìÝþy £ëû ›îû’Ÿ#œÐ ¢%“þîûy‚ ¢î!„þŠé%£z ›îû’Ÿ#œ xíîy ›îû’Ÿ#œ ˜ëûÐ 

 

English Version : 

[Use a separate Answer Book for each group] 
 

Group – A 

Unit-I 
 

1. Answer any two questions of the following : (2 × 5) 

 a) Explain the arguments by which Locke refuted innate ideas. 

 b) What is substance? Discuss after Locke. 

 c) Does Berkeley admit abstract idea? Discuss. 

 d) What is the role of God in Berkeley's Philosophy? 
 

2. Answer any one question of the following : (1 × 15) 

 a) Distinguish, after Locke, between primary and secondary qualities. How does Berkeley react to 

this distinction? (8 + 7) 

 b) "Esse est percipi" — Explain this view of Berkeley. Do you support this view?  (10 + 5) 

  

Unit-II 
 

3. Answer any two questions of the following : (2 × 5) 

 a) Does Hume believe in the existence of a permanent soul different from body? — Discuss. 

 b) Write the distinction between judgement concerning relation of ideas and judgement 

concerning matters of fact. 

 c) Distinguish between analytic and synthetic judgements, after Kant. 

 d) Explain what is meant by Copernican Revolution in the field of knowledge. 
 

4. Answer any one question of the following : (1 × 15) 

 a) Discuss Hume's theory of causality. Do you support this theory? (10 + 5) 

 b) What is Metaphysical Exposition of Space and Time? Show how Kant has established that 

Space and Time are apriori. (3 + 12) 

 

 

Group – B 

     Unit-III 

 

5. Answer any two questions of the following : (2 × 5) 

 a)  Distinguish between truth functional connective and non-truth functional connective with 

examples. 

 b) Which statement form is obtained negating a contingent statement form? Explain with 

example. 

 c) State any five rules of resolution. 

 d) What is meant by a consistent schema? Explain with an example. 
 
 

6. Answer any one of the following : (1 × 15) 

 A) (i) Determine by truth table method whether the following forms of propositions are 

tautologous, self-contradictory or contingent (any two). (2×2) 



(5) 
 

   a) p q (q p) p q p q  

   b) p p p  

   c) p q p q q  

   (ii) Test the validity of the following arguments by the truth table method (any two): (2×3) 

   a) I J I J

I J

I J

 

   b) A B A B

A B

A B

 

   c) O P Q

Q O P

O P O P

 

  (iii) Is it possible for an invalid argument form to have a valid substitution instance? Explain 

with an example. 5 

 B) (i) Determine the truth value of the following by the method of resolution (any one). (1×2) 

   a) A B A B B  

   b) P P Q Q  

  (ii) Determine by the method of resolution whether the following schemata are equivalent: 3 

   p q r, p r q r  

  (iii) Test the validity of the following arguments by the method of resolution (any one). (1×3) 

   a) A B C D

B ~ D

A C

 

   b) A B

B C

C A

 

  (iv) Determine by fell swoop method whether each of the following schema implies the other. (2 + 2) 

   P Q, Q R R P  

  (v) Which statement form is attained by negating a consistent schema? Explain with an 

example. 3 

 

     Unit-IV 

 

7. Answer any two questions of the following: (2  5) 

 a) Explain with illustration, the rule of Existential Instantiation (EI). 5 

 b) Give an example of a propositional function. How could you obtain two different types of  

  propositions from a propositional function? Explain. (1+4) 

 c) What is the necessity of quantification? Explain. 5 

 d) What is meant by formal proof of validity? Give an example. (3 + 2) 

 

 



(6) 
 

 

8. Answer any one question of the following: (1×15) 

 A) i) Symbolise the following using quantifier, individual variables etc.: (any four) (4  1½) 

   a) A tall man is attractive if he is dark and handsome. 

   b) Hume is a philosopher, but he is not spiritualist. 

   c) Some books are not boring, only if they are well written. 

   d) No car is safe unless it has good brakes. 

   e) There are white elephants. 

   f) A boxer, who wins if and only if he is lucky, is not skillful. 

  ii) Prove the invalidity of the following arguments by the method of truth-value assignment.  

    (any three) 3  3 

   a) X Y Z

Y X Z

Z X Y

Y

X Z

 

   b) x Hx Ix

x Jx Ix

x Hx Jx

 

   c) x Mx Nx

x Mx Ox

x Ox Nx

 

   d) Only students are members. Only members are welcome. Therefore, all students are 

     welcome. 

B) Construct formal proof of validity for the following (any three): (3  5) 

  i) J J K

J L

L J J

 

  ii) x Ix Jx

x Ix Jx

x (Jx Ix)

 

  iii) If you plant tulips, then your garden will bloom early and if you plant asters then your 

garden will bloom late. So, if you plant either tulips or asters then your garden will bloom 

either early or late. 

  iv) Plato is mortal. Therefore, everything is either mortal or not mortal. 

 

———— × ———— 


